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Pattern. 1 FXDEBIDIF
_ S#POINTS

ITBEMZ]I OFA = DA CFICES A T, BEAKNIIY TED D,

- RO TEE] 2Tk = AFNMEXMZEDE, BN N TE A6,

BiIfE 1) kO AR X,
(1 (x*-2y-1?

3 (xX+Yy)’(x—y)*

Pattern. 2 55

@) (X*—X+1)(X* +x-1)

4) (x+2)(x—3)(x+4)(x-5)

—— %POINT

BAROLK (FELKXDHE)
O a’+2ab+b*=(axb)?

™

@ x* +(a+b)x+ab=(x+a)(x+b)

@a?—b? =(a+b)@a-b)

(B 2) kO % R X,
(1) 9x*y® —12xy°

(3) 4a*-12ab+9b’ (4) 36x*—25y°

Pattern. 3 H#EHHE (2)

(2) (a-b)x+(b-a)y

(5) x*—3xy-—18y?

SPOINT
- AESBOLR (FEAXDH)

M= &M - HANLE,

@acx® +(ad +bc)x+bd = (ax+b)(cx+d) =

a >< b — bhc
C d — ad
ac bd ad+bc <= = TR

M= &EMNF1 OFIH

(5 3) kDA KR X,

(1) 3X*+7x+2

(2) 4x* —9xy +2y?




